Processing T7w 2/ 7 I v LCTnEd,
FITLZH, “F =L TT I,
T, 7vr70%RrLET,

PImage gazo;

float x01; //HIHNLE

float x02;

float vO1 = 2.0; //72 D /NER D H)H i
float v02 = 0.0 ;

float v1, v2;

float vr ;

float vr0 ;

floatl; //"A DR &

float x1; //7= @ FIWIEE)IC X 2 7
float x2;

float xg; //BE.LOAIE

float d;

float d1 ; //7£ D/NERDHRIR
float d2 ;

float velocity;

float vg; //H.L DL
float1l; // "4 DR &

float m; //FEH#EIC T 2 EH &
float m1; // /i DE &

float m2;

float u; // A SEH &

float k; //IXEHL

float w; // FHREN %L

float t;

float period = 120*25 ; //RffHl D41 % Fi%E (LTI % FH%E)
float phil = P1/2 ; //#13ALAH
float phi2 = PI/2;

float diameter = 200 ;

//int tr = 200 ;

//int click = 0 ;



void setup(){
t=0.0;
fullScreen();
//size(1366,733); //Hf§FRR 1
gazo = loadImage("RaspBerry.jpg");
image(gazo,0,0);
background(255);
frameRate(60);
//translate(width/2,height/2); //FEAEFSE X draw BEEL~
x01 = -width/2.5;
x02 = -width/8;
//1 = (x01-x02):
//xg = (m1*x01+m2*x02)/(m1+m2) ;
velocity = 10.0;
m = 0.02;
ml = 2.0*m;
m2 = 1.0*m;
u=ml*m2/(ml+m2); //#EH &
11 =100.0;
k =0.001;
//w = sqrt(k/u); // FHRENEL
w=20.0;
//d = sqrt(u/k)*(v01-v02); //-3 2 2R DIRIE
d = w*(v01-v02);
//d = 60;
d1 = d*m2/(m1+m2); // 1 D/NERDIRIE D H &
d2 = d*m1/(m1+m2);
vr0 = vO01 - v02 ; //FHxH) 5
//t = (TWO_PI*frameCount/period) -phi ; //KfH D FH5HIE draw BIE~
vg = (m1*v01+m2*v02)/(m14m2); //E.Ls DL

void draw(){
//if(mousePressed) click +=1:
//if(click >= 60 && tr > 0) tr -= 1;
if(keyPressed == false && key == 's'){



//if(key =="s' )}{

step();
}
//step();
background(255);
image(gazo,0,0); //BHEFIR 2
translate(width/2,height/2);
//t = (TWO_PI*frameCount/period) ;
//x1 = d1*cos(w*t-phil) ;
//x01 +=vg; //BELDOEE % 723
//x2 = d2*cos(w*t+phi2) ;
//x02 +=vg ;
stroke(0):
strokeWeight(5);
line(x02+x2,height/2-diameter/2,x1+x01,height/2-diameter/2);
noStroke():
fill(243,152,0);
ellipse(x1+x01,height/2-diameter/2,diameter,diameter);
fill(102,153,255);
ellipse(x2+x02,height/2-diameter/2,diameter,diameter);
fill(255,0,0);
xg = (m1*(x01+x1)+m2*(x02+x2))/(m1+m2) ;
ellipse(xg,height/2-diameter/2,10,10); //H.LFKR
println(x1,x2,vg);

void step(O){
//if(click >= 1){
t = (TWO_PI*frameCount/period) ; //IfEfEaE % =R H
vr = vi0*cos(w*t); //A 75 K72 B OMNHEEE y il 23 T A % [FIc i,
vl = -m2*vr/(m1 + m2); //A () o FEHES)
x1 +=vl;
//x1 = d1*cos(w*t-phil) ;
x01 +=vg; //ELOEE % 723
v2 = ml*vr/(ml + m2); //B (H{l) o J&HED)
X2 +=v2;



//x2 = d2*cos(w*t+phi2) ;
x02 +=vg;
//}



